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MA.4.G.5.1 (Form B) use after lesson 11.6

Multiple Choice
Identify the choice that best completes the statement or answers the question.

o Parker drew this triangle.

Which statement about the triangle is true?

A. All of the angles are right angles. C. None of the angles are acute
angles.

B. All of the angles are acute angles. D. Some of the angles are obtuse
angles.

L Mr. Singh shades a 180° angle in a circle. Which might show the angle Mr. Singh
shades?



Name:

Qing draws a quadrilateral in which £TUV is a right angle. Which quadrilateral might
Qing have drawn?

T

U Vv

L Robert is unlocking his locker. He turns the lock one full turn counterclockwise to begin
his combination. Which is the best description of how far Robert turns the lock?

A. 360°

B. 180° D. 45°

Grayson cut this pennant out of felt. He wants to know the measures of the angles in
his pennant. Which is closest to the measure of ZABC?

A
REARS
C B
A, 10° C. 80°
B. 45° D. 175°
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Answer Section

MULTIPLE CHOICE
ANS: B PTS: 1
ANS: A PTS: 1
ANS: D PTS: 1
ANS: A PTS: 1
ANS: B PTS: 1



